-zhlfaazi:czimm SLi Pﬁ fﬁb()\ “ ( QU&LCDYQ./( e [:,WcL\‘OV\j

—————

4
é — X +hx +¢C Ao

/ PGY I
ver le X

Ver ke x 3 [ L/
MNP~ Z a6 X1 O mm e,
il ot 57nmdf& gl N Rty el 5y Y
Q ”ow }o 'ﬂ“ CJ) Ve \c X ‘)
= L .
Q“ . (%19) = ( 200 / 76(‘3\)
Q- MC\A HA{ (Pa/fa\})()] A ((j: axt* 173% +C) Or)tws UP/O/()\M»?
; Opvy v U‘)h&/\ = Norbex 15 pinimans
p// P P ®a> O ) il

opems  down 2 Al D D

% fow o ﬁqé) axvs o 97""’"6/’“0?
b

A o£ 57mme X= — —
4 2 ox
@ U)nem Pf)tmhoav W Sfcj’s X— AX\S ‘), /_a z—\bX-&-C
= what  ofe M - in\e/cwplrs? Y g~

R
| \ /

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



{\ D A 3 > .
) ./“\‘»I\\U4 < '\n\“‘ ‘C{/}

\yw\»’ték’

K- ”’L”Ctpé >g e = O X —\—\m( +C =0

—b T F D= \:-‘10«(
| .

~eNoS o( \ﬁ'

Q" (//OM 7Lé #'J ‘j-\”’\‘»e/cepcz? 3:ax1+\ox+c

- \3-o+O+C

@ \3- .‘Al—a//cf,p\» =) 7( -0 —)1 B

\elcep
é/)(p J,: )('z )':,,.J vertex | aAXs of 5ywm&}(\7/.‘nle/(fp£
ond skekeh )
\d—_)(
¥

>°\u\fbnl
D .,

) Y
STUDENTS-HUB.com Uploaded By: Jibreel Bornat

N W s
_I_n_lq



STUDENTS-HUB.com Uploaded By: Jibreel Bornat



X —©O

y-rlcept 5 (=< a@

—

Rcmw/\c ﬂg ©,0'}I'muw\ \)OJUQ ocCYvs ot \/C/fLQX

teme op 11m0m Vel
7\ el

AR
\J\UMM
\ e \: 9 \}f/l\%ﬂ y OP\»\MU\M/ axnh O[S)mé
EXP J': = : 5 g\~

-0
X-\‘n\‘flcw{_ ﬂ - _
STUDENTS-HUB.com Uploaded By: Jibreel Bornat



/ \ (inbercepl X =©
Ylecefl = 4

A xis OF

7""’"

& D x—n‘nje(crp} =)y =O =) —’\{.X -

W/
i U -2 — opens dpwn
- - b

(> F O Yx-2x-Y o =
Q : b e L/ verlex
é L +bx-\‘c - May imuna
oy = Yy —2(0 -4 =2 C =
/t'ﬁ- Ve{’e)* (X\‘j) (‘2’0\/ -F('.“‘
- (4
- /zgm ,
p > X
| = Lt ,f-(\))
-\ .
” \ex M OX N ”
(OI(,-Z) — (CD )
P

1
—N uU- vor-2 -1 =~

.. | _~N - .-
Uploaded By: Jibreel Bornat

STUDENTS-HUB.com



-‘1/ . e \ )
0‘)—""‘1“"{{)‘ =) Xx=o ::.> c‘;: yioy— 2(o =Y =-Y

-Ml@«ent Sifat = BE gg =2 K="

rd
L dt LR %0 2 fn==0) x20) +€
T 2§ wth8

i ~ T v
yerlex maxim
A Yo \
\Je(ltx is (%) _-<I;1C(l)) ﬁ( \}q)
_ uev\ex { M)

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



ve e 15 (1) =( 1) +,(n/ = § %y

C’IT e veslex (LY
yYWAUA
‘a-—l‘n‘el(tp} =) #=0 ]
_-E)(j:. o+o+e
a;s \‘“\Mcw‘k 2 1 W(W lj
- - o
D X
' & o
x—!n\]f%(tep\ls _—:)'D:D ;:MZU :
y L -\, -lac
D 0=-X+1xx 3B D> = )
(5 L 3 e W
X = 2*VP -
T T e T T2y AT
Bl o N = @
- S, ilen T e g
= o S bio Yo
)(2::‘_-____]'2_"‘___\1—5— (~z)~\ﬁ2__2-_é:— _7
20 N () = =y -2
LAy

_T ’F 530 T o ) Lo rook (K_n'mko(f@p‘u
gL BL&E = g ro -
T L Py— 0 =) :_’S OV\\U on x-.v.\«\e/ce,p%

g

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



STUDENTS-HUB.com Uploaded By: Jibreel Bornat



